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Choose the correct answer

If2x"1 =7x—1 ,then6x_1= ...............

(a) 1 (b) 2 (c)7 (d) 6
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Choose the correct answer

If7'x+1 =32x+2 sthen X = -eveeeeenennes

(a) zero (b)-1 (©1

aal 2(x+)

7 .a

.l x =\
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Choose the correct answer
I@ then2X=3= ..
(a) 2 ) 2
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Choose the correct answer
IfW: 4 sthen X = v ooveeveenne
(a) £ 4 (b) £+ 8 (c)+ 16
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Choose the correct answer
IfF3%X=2 sthen 9X + 1 = covvvevernn.

(@3 (b) 36 (c) 12
x y 2
>
94 +) ;(3) +

¢2
-’(B)T\
< @-511-\ =9
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Choose the correct answer

Ifxx—5=3x—5 sthen X & -vvoeeeeeennns

(a) }4\5} (b) {-3,5} ©{355,-3} ({5}

= ° ©
r-5 =9 (3) =)
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Choose the correct answer

4
The solution set of the equation : (2 X —25)3 =81 in R s +eereeene-
(a) {-1} (b) {26} () {-1,26}

u1% >
[(,91—9.‘5) SL i[&\,)ﬂ

_
2% -95.097%F 2% —25- _2%

_ 9234725 _ =225
R x=T =) Z
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Choose the correct answer i
3

Ifx§=8 sthen X = +oevveeennnnnn
(a) 32 (b)-16 (c) £32 (d) 16

3\% 5

3 3

)= (3)
s A2 |

m‘i
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(b) 1

O-o -2 o
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Choose the correct answer
_2
3=81 sthen|Xy|=

()2 (b)3

g X
[gcj;@\]

4
IfX3=9y

ot
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Choose the correct answer ——
x2
Ifgzx—=8 » then the values of X = «--ooovevee
(a)-3>,1 (b)=3,-1 (©)351 (d)-1,3
@® 2 59 -2
2 tw
T
x —1x =3
701- 2% -3 20 |
x=3 Xz =\ =

mi
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Choose the correct answer
If3.x=k 9 2—x=m,then1£.x= ...............

(12)1 '( 97-7( 3\ )74—
() x(a
. () 7\(3

:V“K :KW\
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Choose the correct answer
If2x=7 ) 7y=16 ,thenxy: ...............

(a) -4 (b)7 ()8
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Choose the correct answer

2
The solution set of the equation : 7% =49%+#js ..ccccoooeenn.

(a) {- 2} (b) {-2,4} ©{-2,3}
y=
(z )
7% T 3
Z &
, &1 &
= 2r <Y
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Choose the correct answer

The solution set of the equation : 3% * 24+3%-2=-246inRis

(@) {2} ) {1} © {3}
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Choose the correct answer

The solution set of the equation : g L Ve L | L —

(a) {1} (b) {12} ) {152}
2 X
J - éa—gicé M 3

J:Q( 3:—3
X
3 =9 g . -3 Cu%-)

[z=2\
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Choose the correct answer
Iff(x)zzx ,thenf(_Z) o ireeinerineans
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Choose the correct answer

_ X FOX+D)  fX=1 _
Iff(X) =2 ’thenf(X—l)+f(x+1)_

(a) 1 (b) 4
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Choose the correct answer
If  : £ (X) = a* is an exponential function » then a €
@R (b)R*-{1} ©):3
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The opposite figure represents
the function f (X) =a*
sthena=-oeeeeees

(a)2
(b)3

1
© 3

@ 5

3

P ooy

Mr. Michae/ Gamil

Choose the correct answer

-
—

3

2’

2
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Choose the correct answer

The exponential function with the base (a) is increasing if -

(a)a>0 (bya>1 (c)0<ax1
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Choose the correct answer

The function f (X) = a* is decreasing on its domain IR when oo

(a)a=1 (bya>1 (c)0<ax<1
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Choose the correct answer
The function f : f (X)= (%)x 1s decreasing if e,

(aam<1 (bym>1 (c)ym>2

m> 2L
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Choose the correct answer

. X. . ..
The function f (X) = (%) 1s increasing if

(a)a>1 (b)0<ax<1
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Choose the correct answer
ff(xX)=3 X, then the solution set of the equation f (X+ 1) —f(X—=1)=241is oo
(a) 3 (b) 8 (c) zero (d)2

2 +| = -\

_3 -9y
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Choose the correct answer A —>D

If f : R— R where f (X) = X +3 sthen £~ (§) = oS
(a) 2 b-2 33* 33 (d)-3
3 = *
ﬁ ) 2 2«3 A3
K= 43
5 = 9L‘V3 *=-3 :“8
=
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Choose the correct answer

Iff(X)=5+—;’C—athcnf‘I(X)=
@d+sx 9 (b)5+%
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Choose the correct answer

If f is a function s f (5) =7 sthen £ =1 (7) = -rovvenees

% %
o le(b))_s ( .S>(C)7
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Choose the correct answer

FFX)=5X -1 gy 2x2 o L
fX)=5Xsthenf™ " 2)+f~ " (3) 5 5

(a) zero (b) 1 (c)-1
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Choose the correct answer
Iff(X)=ax+b » f71(9=3 , f-1(5)=2,thenaxb=--':f-§-k

(a)—12 (b)-8 (c)-7 (d)-10
L s
J =~ A K -\-\(.) p(3’2= N
p(@) =5 X
3Q+b7%/
20 + b =9
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B Tojether wecarmake A

Choose tr;\e c‘grrec‘t° answer o
Ff0={455:@>2}>f100={2+3)5 ,‘i!)} sthenab=-\'2..

(a) 7 (b) 12 ©)1 (d) zero
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BEEM  Tojether wecarmake A

Choose the correct answer

The logarithmic form equivalent to the exponential form of 27 = 128 is -----o----

(a) log, 128 =7 (b) log, 7 =128 (c)log,128=2  (d) log, 2 =128

C@ 123 =71
2
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K-
A = 2
L’:) ¥ = "J 2 DC’() \93 x

ey x = Q=32 D = ;3=
'\03

Mr. Michael Gamil 0122 13 15 981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




Choose the correct answer A %
If the curve y =1lo f 1 —a X) passes through (%,— %) sthen a = -oeeeeeee-
(a) 2 (b) 3 (c) 4 (d)8

3
I
E'{ y X
—
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Choose the correct answer
The domain of the function f (X) =log (X —4) 18 «ooeeveeeeee

(a) ]4 500 (b) [4 5 () [0,2]
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(b) [0 55]

(a)]Jo,5[-{1}
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Choose the correct answer
The domain of the function f where f (X) =log . | (6—X)is -revveeeene

() ]1 »6[ GR-1156[  ©@J1,6[-{2} @][1,6]
6-x S0 K-\ PO  p_|#|
- > _6 x2 |

1< 6 el
d-oe, 6(
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(a) R* GR-{-3:3} ©@R-[-3,3] @]-3,3]
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Choose the correct answer

Iflog32=a ,thenlog26=. ..............
(a)2a (.b)i*;_l

L’ 3 ( ) Lo:) 6
27 ley2
oy (axa)
Ty

_ (033 t 1032_ (933 (ij
3z 7 Ty T2 §
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Choose the correct answer %
Iflo@+ 3 IO@C= 4 sthen X = ----ooevveveees
(a)3 (b)-3 (cyX3

l‘@‘r (?J3®= "
ex

l%x“ @ Ly ek
|

y ATN \‘:)

(d) zero

oy — N

-

V]
S =
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(a) 3 (b) 4 ©)5
(a:) “I loj%
g4 3
2L4+2=4
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(d)—1log 5 !
3

Choose the correct answer

1+ log 2= i
(a) log 12 (b) log 5 (c) log 20

Ly letley2 - |loyao
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Choose the correct answer

logxy@- logxy@ ...............

@)y (b) X
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Choose the correct answer
Iflog2X=log49 sthen X = ---vevvvennnn.

(a)3 (b) 4 ©9

LoJ 7 _ \,J %
(92 =y Y

oy o %(ag 3

i

l"o ?.’// % (93 2‘//
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Choose the correct answer

logx log 36 10g64 _
If og5 ~ 1ogk o@ sthen X +y = 25 ~\~g

(a) 25 (b) 8 (c) 17

o9 2¢ 2‘4{ \93 64

.-
_'

35 byt ey
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Choose the correct answer 41

The solution set of the equation : (log )C)2 =log X 1 B T —
(a) {1510} (b) {100 , 10} (c) {1,100} (d){1,001}

L3) = 2leyx -0 lgasy

J -23 -0
3-’—9- :):O
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Choose the correct answer

If 10 Og 3 = 5 then x == cesescssssvcncs

(2)9 \-/( (b) 8
-
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Choose the correct answer

log (cos 0) + log (sec 0) = ----oevv where 6 € [0 , 1132_ [
(@)1 (b) zero ©) 2

\‘?J [CoSQXSecej
t03 { - Zeco
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Choose the correct answer

The expression 2 logc 3+ logc 5- logc 45 = coveveinnnnn
(a) 1 (b) 5 (¢) 10 (d) zero

ProBhye

LOJC— ‘st = ("J i
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Choose the correct answer
Iflogab=6 ’ 10gcb=3 ,l‘_henlogcaz e eeeereeannas

(a) 2 (b) 3 (c)%
lyb o g ]
tOJ Qa / ("Jc
!oj oL ) \aJ o ("Jb ~
(ey C -1 log C
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Choose the correct answer
If L and M are the roots of the equation : 2X%2-9X+8=0

» then the value of log2 L+ log2 M=
(a) 2 (b) 4 (c) 12 (d) 8
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Choose the correct answer

1 1 1 _
log, 30 ' log, 30 ' log,30

(a) 30 (b) 1

ooooooooooooooo
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Choose the correct answer

logx+logx+ log X
log3  log9 log27

(a) 32 (b) 3° (c) 312
\OJaL (e Nes \oJ 2
\*0) A 2“:)3 3ly3

6 (OJ L-|—3(¢jx +2lope _ 92
6 (o J 3
[ (og g2
6 (23

If =122 sthen X = - coeeereeeees

= L1

= 27U

6 3
\\
o _ -—
({) - 22 S
)% _ o
w—
rs 3
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Choose the correct answer

If10g2 y= log3 5 x ]og4 3 x ]og5 4 ytheny = oo
(a) 2 (b) 3 © 4
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Choose the correct answer

If10g2y=1(_)g35 x]og43 xlog54 ,t_heny: ...............
(a) 2 (b)3 (c)4

(d)5 !
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Choose the correct answer
The solution set of the equation : log (X +2) +log (X-2)=1-log2inRis -

(@) {3} (b) {3 »-3} (© {152} @ {5}
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Choose the correct answer
4

The solution set of the equation : (2 X —25)3 =81 inRis «-eeeeeeee

(a) {-1} (b) {26} () {-1,26}
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